100 Points

Covers Chapter 4

There are up to 10 bonus points available. I grade the first 2 bonus problems I come to and ignore the rest. So be sure to tell me which Bonuses you want to do.

- 1. (10 pts) Use the limit definition of the definite integral to evaluate $\int_0^3 (x^2 2x) dx$.
- 2. (15 pts) Use the Fundamental Theorem of Calculus (Part II) to evaluate $\int_0^3 (x^2 2x) dx$
- **B** (Bonus 5 pts) What would the x_k be if the interval were [1, 3] instead of [0, 3], in Problem #1? I just want to see the x_k . Don't do any more than that,
 - 3. Show that $\int_0^1 y^4 dy = \int_0^1 (1 x^{1/4}) dx$ by evaluating each, separately.
- (Bonus 5 pts) Draw a picture and explain what's going on in the previous problem.
 - 4. (10 pts) Evaluate the definite integral. $\int_0^6 |x-4| dx$
- B3 (Bonus 5 pts) Evaluate the definite integral $\int_{-\pi/3}^{\pi/4} |\sec x \tan x| dx$
 - 5. (10 pts) Evaluate the indefinite integral. It will involve a *u*-substitution. $\int \frac{x}{\sqrt{2x+1}} dx$
 - 6. (10 pts) Evaluate the indefinite integral. $\int \frac{\sin x}{\cos^2 x} dx$.
- By (Bonus 5 pts) Find an upper bound and a lower bound for the definite integral $\int_1^3 \frac{1}{r} dx$. You do *not* know how to evaluate this integral, using only this semester's worth of training. But you can put a ceiling and a floor on it.
 - 7. (10 pts) Suppose the velocity (meters per second) of a particle moving in a straight line is $v(t) = -t^2 + 4t + 5$. Tell me what the two integrals represent.
 - a. $\int_{0}^{\infty} v(t)dt$

- b. $\int_{0}^{b} |v(t)| dt$
- 35 (Bonus 5 pts) Evaluate the 2nd integral in the previous problem: $\int_{0}^{\infty} |v(t)|dt$
 - 8. (10 pts) Perform the indicated differentiation:
 - a. $\frac{d}{dx} \int_{\pi/6}^{x} \frac{t^2 3t}{\csc^3(t)} dt$. Assume $\frac{\pi}{6} < x < \pi$.

b. $\frac{d}{dx} \int_{\pi/6}^{x^3} \frac{t^2 - 3t}{\csc^3(t)} dt$. Assume $\frac{\pi}{6} < x^3 < \pi$

$$\frac{3}{n} \underbrace{\begin{cases} (x_{1}^{2} - 2x_{1}) = \frac{3}{n} \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = \frac{3}{n} \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} (\frac{3}{n}) = 2(\frac{3}{n}) \\ \frac{3}{n} = 2(\frac{3}{n}) \end{cases}}_{K=1} \underbrace{\begin{cases} ($$

$$= \frac{3}{n}, \frac{9}{n^2} \leq \kappa^2 - \frac{3}{n} \cdot 2 \cdot \frac{3}{n} \leq \kappa$$

$$=\frac{27}{13}\cdot\frac{13}{3}-\frac{18}{12}\cdot\frac{12}{12}$$

$$\frac{1-200}{3}, \frac{27}{3} - \frac{18}{2} = 9-9=0$$

$$(3) \int_{0}^{3} (x^{2} - 2x) dx = \left[\frac{x^{3}}{3} - x^{2} \right]_{0}^{3} = \frac{2}{3} - 9 = 0$$

(3)
$$\int_{0}^{1} y^{4} dy = \frac{y^{5}}{5} \Big]_{0}^{1} = \frac{1}{5}$$

$$\int (1-x^{\frac{1}{4}}) dx = \left[x-\frac{1}{5}x^{\frac{5}{4}}\right] = 1-\frac{1}{5} = \frac{1}{5}$$

201 TEST 3

$$= -\left[\frac{1}{2} + \left[\frac{1}{2} + \left[\frac{1} + \left[\frac{1}{2} + \left[\frac{$$

BS
$$\int_{0}^{1} t^{2} + 4t + 5 dt = t^{2} + 4t + 5 = 0$$

$$= \int_{0}^{1} (-t^{2} + 4t + 5) dt + \int_{0}^{1} (t^{2} + 4t + 5) dt + \int_{$$

201 TEST 3 CY

(8) (a)
$$\frac{d}{dx}$$
 $\int_{-\infty}^{x} \frac{t^2-3t}{csc^3+} dt = \frac{x^2-3x}{csc^3+x}$

(8) (a) $\frac{d}{dx}$ $\int_{-\infty}^{x} \frac{t^2-3t}{csc^3+x} dt = \frac{x^2-3x}{csc^3+x}$

(b)
$$\frac{d}{dx} \int_{-\frac{1}{3}}^{\frac{2}{3}} \frac{t^{2}}{csc^{3}} \frac{dt}{dt} = \frac{x^{2} - 3x^{3}}{csc^{3}(x^{3})} \cdot 3x^{2}$$